# Some Properties Of ( $p, q ; r$ )-Convex Sequences* 

Xhevat Zahir Krasniqi ${ }^{\dagger}$

Received 24 September 2014


#### Abstract

In this paper we introduce an essential class of real sequences named as $(p, q ; r)$-convex sequences. Employing this class we generalize two different results proved previously by others.


## 1 Introduction

Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a real sequence and let the difference of order $k$ of the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ be defined by

$$
\triangle^{0} a_{n}=a_{n}, \quad \triangle^{k} a_{n}=\triangle^{k-1} a_{n+1}-\triangle^{k-1} a_{n}, \quad n=1,2, \ldots,
$$

and throughout the paper we shall write $\triangle a_{n}$ instead of $\triangle^{1} a_{n}$.
Next definition introduces the well-known notion of a convex sequence of order $k$, $(k=1,2, \ldots)$.

DEFINITION 1. A sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is said to be convex of order $k$ if $\triangle^{k} a_{n} \geq 0$ for all $n$. In particular, a convex sequence of order $k=2$ is said to be convex.

In 1965 N. Ozeki [1] (see also [2], page 202) has proved the following theorem, relevant to convex sequences.

THEOREM 1. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a real sequence and let the sequences be defined by

$$
\begin{equation*}
A_{n}=\frac{1}{n} \sum_{k=1}^{n} a_{k}, \quad B_{n}=\triangle^{2} A_{n}, \quad(n=1,2, \ldots) \tag{1}
\end{equation*}
$$

If the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is convex, then:
(i) $B_{n} \geq \frac{n-1}{n+2} B_{n-1}$ for $n=2,3, \ldots$,
(ii) Sequence $\left(A_{n}\right)_{n=1}^{\infty}$ is convex, i.e. $\triangle^{2}\left(A_{n}\right) \geq 0$ for all $n=1,2, \ldots$

[^0]A natural question was raised whether assertion (ii) of THEOREM 1 could be extended to the convex sequences of order $k \geq 3$. A correct and elegant answer of this question was given in [3] as below.

THEOREM 2. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a positive sequence. Then the $k$-th order convexity of the sequence $\left(a_{n}\right)_{n=1}^{\infty}$, implies the $k$-th order convexity the sequence $\left(A_{n}\right)_{n=1}^{\infty}$, where $A_{n}$ is defined by (1).

Various generalizations of convexity were studied by many authors. In [4] a sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is said to be $p$-convex for a positive real number $p$ if $L_{p}\left(a_{n}\right) \geq 0$ for all $n=1,2, \ldots$, where the difference operator $L_{p}$ is defined by

$$
L_{p}\left(a_{n}\right)=a_{n+2}-(1+p) a_{n+1}+p a_{n}
$$

Another generalization uses the operator

$$
L_{p, q}\left(a_{n}\right)=a_{n}-(p+q) a_{n+1}+p q a_{n+2}
$$

where

$$
L_{p}\left(a_{n}\right)=a_{n}-p a_{n+1} \quad \text { and } \quad L_{p, q}\left(a_{n}\right)=L_{p}\left(a_{n}\right)-q L_{p}\left(a_{n+1}\right)
$$

with $p, q \in \mathbb{R}, 0<p<1,0<q<1$, see [5]. In the same paper are given the following definitions:

DEFINITION 2. A sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is called $p-$ monotone if $L_{p}\left(a_{n}\right) \geq 0$ for every $n$. A sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is called $(p, q)$-convex sequence if $L_{p, q}\left(a_{n}\right) \geq 0$ for every $n$.

The application of $(p, q)$-convex sequences has led to the proving a generalized statement which in particular case when $p \rightarrow 1$ and $q \rightarrow 1$ implied a well-known inequality having an important application in Fourier analysis (see REMARK 7 at the end of the paper).

THEOREM 3 ([5]). Let $0<p<1,0<q<1, p \neq q$ and $\left(a_{n}\right)_{n=1}^{\infty}$ be a bounded $(p, q)$-convex sequence. Then $\left(a_{n}\right)_{n=1}^{\infty}$ is $p$-monotone. In addition, if $L_{p, q}\left(a_{n}\right) \geq 0$ and $0 \leq a_{n} \leq 1$, then we have

$$
0 \leq L_{p, q}\left(a_{n}\right) \leq n\left(\sum_{k=1}^{n} \frac{p^{k}-q^{k}}{p-q}\right)^{-1}
$$

Let $\left(a_{n}\right)_{n=1}^{\infty}$ be an arbitrary real sequence. For a natural number $r$ we define the difference operators $L_{p ; r}$ with

$$
L_{p ; r}\left(a_{n}\right)=a_{n}-p^{r} a_{n+r}, \quad(n=1,2, \ldots)
$$

and

$$
L_{p, q ; r}\left(a_{n}\right)=L_{p ; r}\left(a_{n}\right)-q^{r} L_{p ; r}\left(a_{n+r}\right), \quad(n=1,2, \ldots),
$$

where $p, q \in \mathbb{R}$.

It is easy to verify the following properties of the operator $L_{p, q ; r}$ :

$$
L_{p, q ; r}\left(C a_{n}\right)=C L_{p, q ; r}\left(a_{n}\right), C-\text { is a constant }
$$

and

$$
L_{p, q ; r}\left(a_{n}+b_{n}\right)=L_{p, q ; r}\left(a_{n}\right)+L_{p, q ; r}\left(b_{n}\right)
$$

Now we introduce the concepts of $(p ; r)$-monotonicity and $(p, q ; r)$-convexity of an arbitrary real sequence.

DEFINITION 3. A sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is called $(p ; r)$-monotone if $L_{p ; r}\left(a_{n}\right) \geq 0$ for every $n$ and $r$. A sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is called $(p, q ; r)$-convex sequence if $L_{p, q ; r}\left(a_{n}\right) \geq 0$ for every $n$ and $r$.

Note that in particular case, the class of $(1,1 ; r)$-convex sequences is a wider class than the class of ordinary convex sequences as shows next example.

EXAMPLE 1. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be an real sequence given by

$$
a_{n}=\left\{\begin{array}{cc}
(-1)^{n}, & \text { for } n \text { odd } \\
0, & \text { for } n \text { even. }
\end{array}\right.
$$

Then $\triangle^{2} a_{n}=4 \cdot(-1)^{n}$ which means that for all $n$ the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is not convex. On the other hand $L_{1,1 ; r}\left(a_{n}\right)=2 \cdot(-1)^{n}\left[1-(-1)^{r}\right]$, from which we conclude that the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is $(1,1 ; r)$-convex for all numbers $n$ and for an arbitrary even number $r$.

We shall generalize THEOREM 2 using $(1,1 ; 2)$-convexity instead of the ordinary second order convexity and THEOREM 3 using $(p, q ; r)$-convexity, in general form, instead of $(p, q)$-convexity which are the main aims of this paper.

## 2 Main Results

Firstly we prove the following:
THEOREM 4. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a real sequence and let the sequences $\left(A_{n}\right)_{n=1}^{\infty}$ be defined by

$$
A_{n}=\frac{1}{n} \sum_{k=1}^{n} a_{k}, \quad(n=1,2, \ldots)
$$

If the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is $(1,1 ; 2)$-convex, then the sequence $\left(A_{n}\right)_{n=1}^{\infty}$ is $(1,1 ; 2)$-convex as well.

PROOF. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a $(1,1 ; 2)$-convex sequence. Then we have to prove that

$$
\begin{aligned}
& \frac{a_{1}+a_{2}+\cdots+a_{n}+a_{n+2}+a_{n+3}+a_{n+4}}{n+4} \\
& \quad-2 \cdot \frac{a_{1}+a_{2}+\cdots+a_{n}+a_{n+1}+a_{n+2}}{n+2}+\frac{a_{1}+a_{2}+\cdots+a_{n}}{n} \geq 0
\end{aligned}
$$

holds for all $n=1,2, \ldots$.
Multiplying the above inequalities by $n(n+2)(n+4)$ we obtain

$$
\begin{aligned}
& n(n+2)\left(a_{1}+a_{2}+\cdots+a_{n}+a_{n+2}+a_{n+3}+a_{n+4}\right) \\
& -2 n(n+4)\left(a_{1}+a_{2}+\cdots+a_{n}+a_{n+1}+a_{n+2}\right) \\
& \quad+(n+2)(n+4)\left(a_{1}+a_{2}+\cdots+a_{n}\right) \geq 0
\end{aligned}
$$

for all $n=1,2, \ldots$.
Now canceling similar terms, in the above inequalities, we obtain the equivalent inequalities

$$
\begin{equation*}
8\left(a_{1}+a_{2}+\cdots+a_{n}\right)-n(n+6)\left(a_{n+1}+a_{n+2}\right)+n(n+2)\left(a_{n+3}+a_{n+4}\right) \geq 0 \tag{2}
\end{equation*}
$$

for all $n=1,2, \ldots$.
Subsequently, it is enough to prove (2). Let the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ be $(1,1 ; 2)$-convex and $n=2 k-1, k \in \mathbb{N}$. Then adding the inequalities

$$
\begin{aligned}
& 2 \cdot 4 \cdot\left(a_{1}-2 a_{3}+a_{5}\right) \geq 0 \\
& 4 \cdot 6 \cdot\left(a_{3}-2 a_{5}+a_{7}\right) \geq 0 \\
& 6 \cdot 8 \cdot\left(a_{5}-2 a_{7}+a_{9}\right) \geq 0 \\
& \quad \vdots \\
& (2 k-4)(2 k-2)\left(a_{2 k-5}-2 a_{2 k-3}+a_{2 k-1}\right) \geq 0 \\
& (2 k-4) 2 k\left(a_{2 k-3}-2 a_{2 k-1}+a_{2 k+1}\right) \geq 0 \\
& 2 k(2 k+2)\left(a_{2 k-1}-2 a_{2 k+1}+a_{2 k+3}\right) \geq 0
\end{aligned}
$$

we obtain

$$
\begin{equation*}
8\left(a_{1}+a_{3}+\cdots+a_{2 k-1}\right)-\left(4 k^{2}+12 k\right) a_{2 k+1}+\left(4 k^{2}+4 k\right) a_{2 k+3} \geq 0 \tag{3}
\end{equation*}
$$

Now let $n=2 k, k \in \mathbb{N}$, be an even number. Similarly, adding the inequalities

$$
\begin{aligned}
& 2 \cdot 4 \cdot\left(a_{2}-2 a_{4}+a_{6}\right) \geq 0 \\
& 4 \cdot 6 \cdot\left(a_{4}-2 a_{6}+a_{8}\right) \geq 0 \\
& 6 \cdot 8 \cdot\left(a_{6}-2 a_{8}+a_{10}\right) \geq 0 \\
& \quad \vdots \\
& (2 k-4)(2 k-2)\left(a_{2 k-4}-2 a_{2 k-2}+a_{2 k}\right) \geq 0, \\
& (2 k-4) 2 k\left(a_{2 k-2}-2 a_{2 k}+a_{2 k+2}\right) \geq 0, \\
& 2 k(2 k+2)\left(a_{2 k}-2 a_{2 k+2}+a_{2 k+4}\right) \geq 0,
\end{aligned}
$$

we obtain

$$
\begin{equation*}
8\left(a_{2}+a_{4}+\cdots+a_{2 k}\right)-\left(4 k^{2}+12 k\right) a_{2 k+2}+\left(4 k^{2}+4 k\right) a_{2 k+4} \geq 0 \tag{4}
\end{equation*}
$$

Finally, adding inequalities (3) and (4) we immediately obtain (2). The proof is completed.

THEOREM 5. Let $0<p<1,0<q<1, p \neq q, r \in \mathbb{N}$, and let $\left(a_{n}\right)_{n=1}^{\infty}$ be a bounded $(p, q ; r)$-convex sequence. Then $\left(a_{n}\right)_{n=1}^{\infty}$ is $(p ; r)$-monotone. In addition, if $L_{p, q ; r}\left(a_{n}\right) \geq 0$ and $0 \leq a_{n} \leq 1$, then we have

$$
0 \leq L_{p, q ; r}\left(a_{n r}\right) \leq n\left(\sum_{j=1}^{n} \frac{p^{j r}-q^{j r}}{p^{r}-q^{r}}\right)^{-1}
$$

PROOF. Assume that $L_{p, q ; r}\left(a_{n}\right) \geq 0$ for all n. Then from $L_{p ; r}\left(a_{n}\right) \geq q^{r} L_{p ; r}\left(a_{n+r}\right)$ and every $k>n, k=n+r, n+2 r, n+3 r, \ldots, n+m r, \ldots,(m=1,2, \ldots)$, we get

$$
L_{p ; r}\left(a_{k}\right) \leq q^{n-k} L_{p ; r}\left(a_{n}\right)
$$

Hence, for $m=1,2, \ldots$, and assumptions of the theorem we obtain

$$
\begin{aligned}
\frac{1-(p / q)^{m r}}{1-(p / q)^{r}} L_{p ; r}\left(a_{n}\right) & =\sum_{i=n, n+r, \ldots, n+(m-1) r}(p / q)^{i-n} L_{p ; r}\left(a_{n}\right) \\
& \geq \sum_{i=n, n+r, \ldots, n+(m-1) r}(p / q)^{i-n} q^{i-n} L_{p ; r}\left(a_{i}\right) \\
& =a_{n}-p^{m r} a_{n+m r} \geq-p^{m r}
\end{aligned}
$$

i.e.

$$
\frac{1-(p / q)^{m r}}{1-(p / q)^{r}} L_{p ; r}\left(a_{n}\right)+p^{m r} \geq 0
$$

Since last inequality holds true for all $m r>0$, then it clearly implies $L_{p ; r}\left(a_{n}\right) \geq 0$ for all $n \in \mathbb{N}$.

Now the boundedness of the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ implies

$$
\begin{aligned}
n= & \sum_{j=1}^{n} 1 \geq \sum_{j=1}^{n} a_{j r} \\
= & \sum_{j=1}^{n} \frac{1-p^{j r}}{1-p^{r}} L_{p ; r}\left(a_{j r}\right)+p^{r} a_{(n+1) r} \frac{1-p^{n r}}{1-p^{r}} \\
\geq & L_{p ; r}\left(a_{n r}\right) \sum_{j=1}^{n} \frac{1-p^{j r}}{1-p^{r}} q^{(n-j) r} \\
= & L_{p ; r}\left(a_{n r}\right)\left[q^{(n-1) r}+\left(1+p^{r}\right) q^{(n-2) r}+\left(1+p^{r}+p^{2 r}\right) q^{(n-3) r}\right. \\
& \left.+\cdots+\left(1+p^{r}+p^{2 r}+\cdots+p^{(n-1) r}\right)\right] \\
= & L_{p ; r}\left(a_{n r}\right)\left\{\left[q^{(n-1) r}+p^{r} q^{(n-2) r}+p^{2 r} q^{(n-3) r}+\cdots+p^{(n-1) r}\right]\right. \\
& \left.+\left[q^{(n-2) r}+\left(1+p^{r}\right) q^{(n-3) r}+\cdots+\left(1+p^{r}+p^{2 r}+\cdots+p^{(n-2) r}\right)\right]\right\} \\
\geq & L_{p ; r}\left(a_{n r}\right)\left[q^{(n-1) r}+p^{r} q^{(n-2) r}+p^{2 r} q^{(n-3) r}+\cdots+p^{(n-1) r}\right] \\
= & L_{p ; r}\left(a_{n r}\right) \sum_{j=1}^{n} \frac{p^{j r}-q^{j r}}{p^{r}-q^{r}} .
\end{aligned}
$$

The proof is completed.
REMARK 6. If we take $r=1$ in THEOREM 5, then THEOREM 3 is an immediate results of it.

REMARK 7. If we take $r=1$ and let $p \rightarrow 1, q \rightarrow 1$ in THEOREM 5 , then we obtain

$$
0 \leq \triangle\left(a_{n}\right) \leq \frac{2}{n+1}, \quad(n=1,2, \ldots)
$$

In fact, this is a well-known result that was appeared in [7]: If $\left(a_{n}\right)_{n=1}^{\infty}$ is bounded, say $0 \leq a_{n} \leq 1$ and convex, then $\triangle\left(a_{n}\right)_{n=1}^{\infty}$ is also bounded. This result, as we have mentioned in the first section of this paper, has an important application in Fourier analysis and its extends (as we have done) surly would be important in applications to this field.

In [6], any real sequence $\left(a_{n}\right)_{n=1}^{\infty}$ has been defined the following differences

$$
\bar{L}_{p q}\left(a_{n}\right)=a_{n+2}-(p+q) a_{n+1}+p q a_{n}, \quad n=1,2, \ldots,
$$

and it is said that the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is $p, q$-convex if

$$
\bar{L}_{p q}\left(a_{n}\right) \geq 0, \quad n=1,2, \ldots
$$

and this definition differs from the definition given in [5]. Here we generalize the class of $p, q$-convex sequences in the following way: For any real sequence $\left(a_{n}\right)_{n=1}^{\infty}$ we define the following differences

$$
\bar{L}_{p, q ; r}\left(a_{n}\right)=a_{n+2 r}-\left(p^{r}+q^{r}\right) a_{n+r}+p^{r} q^{r} a_{n}, \quad n, r=1,2, \ldots
$$

We say that the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is $p, q ; r$-convex if $\bar{L}_{p, q ; r}\left(a_{n}\right) \geq 0, \quad n, r=1,2, \ldots$
Of what we said so far for $p, q ; r$-convex sequences we are in able to prove the following result which plays an important role for the future investigations.

LEMMA 8. Let $r \in\{1,2, \ldots\}$. Then the sequence

$$
w_{n}= \begin{cases}\frac{p^{n}-q^{n}}{p-q} & \text { if } p \neq q \\ n p^{n-1} & \text { if } p=q\end{cases}
$$

satisfies the relation $\bar{L}_{p, q ; r}\left(w_{n}\right)=0, \quad n \in\{1,2, \ldots\}$.
PROOF. The proof follows by direct calculations.
Taking the value $r=1$ to the LEMMA 8, we obtain Lemma 1 proved previously by others, see [6] page 2 .

THEOREM 9. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a $p, q ; r$-convex sequence of real numbers, the integer $m \geq 2$, and $r \in\{1,2, \ldots\}$. If for the terms $a_{r}$ and $a_{2 r}$ of the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ holds

$$
\begin{equation*}
\frac{a_{2 r}}{w_{m+r}} \geq \frac{a_{r}}{w_{m}} \tag{5}
\end{equation*}
$$

then the sequence $\left(\frac{a_{n+2 r}}{w_{m+n+r}}\right)_{n=1}^{\infty}$ is monotone non-decreasing for all $n \in\{1,2, \ldots\}$.
PROOF. Let $\left(a_{n}\right)_{n=1}^{\infty}$ be a $p, q ; r$-convex sequence of real numbers, the integer $m \geq$ 2 , and $r \in\{1,2, \ldots\}$. Then by the assumptions we have

$$
\begin{aligned}
& {\left[a_{n+2 r}-\left(p^{r}+q^{r}\right) a_{n+r}+(p q)^{r} a_{n}\right] \frac{w_{m+n}}{(p q)^{m+n}} \geq 0} \\
& {\left[a_{n+r}-\left(p^{r}+q^{r}\right) a_{n}+(p q)^{r} a_{n-r}\right] \frac{w_{m+n-r}}{(p q)^{m+n-r}} \geq 0} \\
& {\left[a_{n}-\left(p^{r}+q^{r}\right) a_{n-r}+(p q)^{r} a_{n-2 r}\right] \frac{w_{m+n-2 r}}{(p q)^{m+n-2 r}} \geq 0} \\
& \quad \vdots \\
& {\left[a_{5 r}-\left(p^{r}+q^{r}\right) a_{4 r}+(p q)^{r} a_{3 r}\right] \frac{w_{m+3 r}}{(p q)^{m+3 r}} \geq 0} \\
& {\left[a_{4 r}-\left(p^{r}+q^{r}\right) a_{3 r}+(p q)^{r} a_{2 r}\right] \frac{w_{m+2 r}}{(p q)^{m+2 r}} \geq 0} \\
& {\left[a_{3 r}-\left(p^{r}+q^{r}\right) a_{2 r}+(p q)^{r} a_{r}\right] \frac{w_{m+r}}{(p q)^{m+r}} \geq 0}
\end{aligned}
$$

Adding the above inequalities we obtain

$$
\frac{a_{n+2 r} w_{m+n}-a_{n+r} w_{m+n+r}}{(p q)^{m+n}}+\frac{a_{r} w_{m+r}-a_{2 r} w_{m}}{(p q)^{m}} \geq 0
$$

Thus, from this inequality and (5) we clearly obtain the assertion of the theorem.

OPEN PROBLEM 10. If the sequence $\left(a_{n}\right)_{n=1}^{\infty}$ is $(p, q ; r)$-convex, then the sequence $\left(A_{n}\right)_{n=1}^{\infty}$ is $(p, q ; r)$-convex as well for $r \in\{3,4, \ldots\}$.

Acknowledgment. The author would like to thank the anonymous referee for her/his very useful comments and suggestions implemented in this paper. I also would like to thank very much Professor Naim Braha, my ex supervisor, for his advices.

## References

[1] N. Ozeki, On some inequalities. (Japanese), J. College Arts Sci. Chiba Univ., 4(1965), 211-214
[2] D. S. Mitrinović, Analytic Inequalities. In cooperation with P. M. Vasić. \tseries Die Grundlehren der mathematischen Wissenschaften, Band 165 Springer-Verlag, New York-Berlin 1970
[3] D. S. Mitrinović et al., Addenda to the monograph "Analytic inequalities" II, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat., 677(1979), 3-24.
[4] I. B. Lacković and M. R. Jovanović, On a class of real sequences which satisfy a difference inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat., 678(1980), 99-104.
[5] L. M. Kocić and I. Z. Milovanović, A property of $(p, q)$-convex sequences, Period. Math. Hungar., 17(1986), pp. 25-26.
[6] I. Z. Milovanović, J. E. Pec̆arić and Gh. Toader, On $p, q$-convex sequences, Itinerant seminar on functional equations, approximation and convexity, Cluj-Napoca, 1985, "Babeş-Bolyai" University Preprint 6(1985), 127-130.
[7] A. Zygmund, Trigonometric Series: Vols. I, II. Second edition, reprinted with corrections and some additions Cambridge University Press, London-New York 1968.


[^0]:    *Mathematics Subject Classifications: 26A51, 26A48, 26D15.
    ${ }^{\dagger}$ Department of Mathematics and Informatics, University of Prishtina "Hasan Prishtina", Avenue "Mother Theresa" no. 5, 10000 Prishtina, Kosovo

